 June 1, 2017
Dear Parent,

     Due to the added rigor of the Keystone Standards, next year’s math program will be more challenging and incorporate more abstract thinking.   The concepts learned in algebra I are the essential building blocks for their future math classes.   In an effort to keep these concepts fresh in their minds, the math department has prepared a packet containing review problems from the algebra I math course and a few problems that your children may find challenging.  These problems contain a level of difficulty that is appropriate for what the students have just completed.  When your child completes this packet with the aid of his/her notes, or by working with a friend or study group, it will help to prepare your child for the rigor they can expect next year.  The students are expected to show work for each problem, not just the answers

At the beginning of school next year, our algebra teachers will be using this packet as a means of introduction to your child’s next course.  This packet is a requirement to begin advanced algebra 2.  The packet will count as a homework assignment and is due the first day of school.  The high school teachers will also count it as an extra credit project IF it is completed when it is checked on the first day of school.  

If your child loses the packet or simply wants a clean copy of the packet, it can be found on the High School Math webpage. It is listed in the math courses as Summer Review packet page.  The link can be accessed by typing in the following URL to go directly to the page.  
                 https://lisaschell8.wixsite.com/mysite/summer-review
Towards the end of summer an answer key for this packet will be posted on the site mentioned above.  The answer key is answers only which is why students MUST show work to earn the grade for the packet and the extra credit.     

     Thank you for helping us to strive for the best educational opportunities for your child.

Sincerely
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Lisa Schell

Lead Math Teacher

Solanco High School 
Algebra 




Name________________________
Summer Review Packet

Counts as both Homework and extra credit.
There will be a quiz on the material once you’ve had a chance to ask questions.
1.  Evaluate  |3x – y| + 7



2.   Distribute   3(2x -5)

when x = -1 and y = 5

3.  Distribute    - (5x – 3)



4.  Factor   2xy- 4yz

5.  Combine like terms    



6.   Simplify   
        9x – 5x  + 6( x – 4)




9y – [ 4y – (2y – 5)]      

Solve

7.    b + 21 = 48

8.  4x – 12 = 72 

9.  6h – 6 > 3h + 21

Simplify using writing with only positive exponents

10.
x8 · x3


11.
 a4 · b5 · a8 ·b15

12.
n-8
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13.  (4a4)2


14.



15.
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Write in scientific notation:

16.       9,400, 000

17.   .09403


18.  
Solve
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19.     



20.   .6x + 1.5 = 2.1

21.  
22.  (x + 4)(x – 3) = 0



23.  (2x – 5)(3x + 4) = 0

24.  One angle of a triangle is 5 times as large as the first angle.  The measure of the third angle  is 2° less than that of the first angle.  How large are the three angles?

[image: image7.wmf]1

2

25.  Solve                    for b


26.  Solve  V = ab + at     for a

Solve

27.   2x + 7 > x – 9



28.   -9y < 45

Graph:

29.    -3 < x < 5


30.   x < 5  or x > 3

   31.    – 7 < 2x – 1 < 3
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32.      y < -2x – 2




33.  3x + 2y > 6
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34.   find the distance between  


35.  Find the missing side
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A = (5, 1)
B = (11, -7)    
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Solve

36.     | x| = 6


37.   | 3x – 5| = 20

38.   |x – 3| > 5

39. List the domain and range of   {(1, 5),  (-1, 4),  (0, 2)}

40.  Which of these ordered pairs  (-3, -3),  (0, 3),  (-1, 2)  is a solution to the equation  y = 3 – 2x

State the x and y intercepts of the following

41.  -5x + 2y = 10




42.   Place in slope intercept form and 

       state the slope 

      2x  + 3y  =  6
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Write the equation of the line in slope intercept form, given:

43.    ( 2, -3) is on the line  and m = 


44.    (3, -1)  and (5, 9) are on the line  

Find the equation of the line in slope intercept form containing the point (-3, 7) and

45.   parallel to  5x + 3y = 8



46.   Perpendicular to  5x + 3y = 8

FACTOR and Solve
47.   3x + 6 = 0
48.    x2  – 49 = 0  
49.    2x2 – 72 = 0     
50.  x2 + 6x + 5 = 0



      51.  x2 + 2x – 8 = 0                     52.  2x2 + 2x – 12 = 0
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State the Restrictions on the Domain




53.
y= 



54.
y=



55.  y=
Solve by graphing
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56.
y = -5

    



57. 
y = x+1


y=x-3





          y = -x +3

Solve  by substitution



58.
a = .5b





59.
x = 3y – 3 


4a + 1b = 30





7x – 2y = 17




Solve by elimination method (linear combination)



60.
2m + 3n = 12




61.   5x + 1y = 30

            3m + 4n = 17




        3x – 4y = 41
Function Notation:

Given:   f(x) = 2x         g(x) = x2 – 2  

 h(x) = x + 1

Find:  
1.    g( -2)

2.   f( g( 3))


3.  h(g(f(0)))

4.   f(g(x))

Additional topics:


Probability


1
Simple

There are 10 red and 5 blue marbles in a bag.  You select one at random
what is the probability that it is blue.


2
Compound

There are 10 red and 5 blue marbles in a bag.  You select one and do not
replace it, then select another, what is the probability that both are red?

3
Permutations and Combinations 




How many ways can you arrange the letters in the word Board

4.        How many ways can you select 4 toppings for your pizza when the
           restaurant offers the following items:  cheese, pepperoni, green pepper,    
           mushrooms, sausage, bacon, onions, pineapple, broccoli.


Statistics



Mean



Median



Mode




There are 10 people in the room of the following heights (all in inches):



60, 64, 72, 58, 65, 64,  70, 66, 69, 61



1
Find the mean, median and mode for this data:

2         What would happen to the mean, median and mode, if a person who was 
                       54 inches tall joined the group?

3.        Using the original 10 people, how tall would a new person have to be to 
                       raise the overall average height by one inch?  


Linear Regressions




Scatter plots



Line of Best fit (sketching)



Predicting from the line of best fit

1.     Graph the points below on the graph at the right.  Then sketch the line of 
    best fit.  What value would you predict for y when x is 8?  __________


2.     What might you predict the correlation coefficient would be?  _______
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	X
	Y

	-5
	8

	-3
	6

	-1
	3

	1
	2

	3
	1

	5
	-2
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